














0 1 2 3 4 5 6
706

706.2

706.4

706.6

706.8

707

707.2

707.4

707.6

707.8

708

x (m)

A
x
ia

l 
F

o
rc

e
: 

H
 (

N
)

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
-1

-0.8

-0.6

-0.4

-0.2

0

0.2

0.4

0.6

0.8

1

z (m)

A
x
ia

l 
F

o
rc

e
: 

H
 (

N
)

0 1 2 3 4 5 6
-1500

-1000

-500

0

500

1000

x (m)

S
h
e
a

r 
F

o
rc

e
: 

V
 (

N
)

0 1 2 3 4 5 6
-2500

-2000

-1500

-1000

-500

0

500

x (m)

B
e

n
d
in

g
 M

o
m

e
n
t:

 M
 (

N
.m

)

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
-1000

-900

-800

-700

-600

-500

-400

-300

-200

-100

0

z (m)

B
e
n
d
in

g
 M

o
m

e
n
t:

 M
 (

N
.m

)

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
999

999.2

999.4

999.6

999.8

1000

1000.2

1000.4

1000.6

1000.8

1001

z (m)

S
h
e
a
r 

F
o
rc

e
: 

V
 (

N
)



clc
clear all
close all

x1=0:1/100:1;
for i=1:length(x1)
    H1(i)=707;
    V1(i)=196.4;
    M1(i)=196.4*x1(i);
end

x2=1:1/100:3;
for i=1:length(x2)
    H2(i)=707;
    V2(i)=196.4-800*(x2(i)-1);
    M2(i)=196.4*x2(i)-400*(x2(i)-1)^2;
end

x3=3:1/100:4;
for i=1:length(x3)
    H3(i)=707;
    V3(i)=-1403.6;
    M3(i)=196.4*x3(i)-1600*(x3(i)-2);
end

x4=4:1/100:6;
for i=1:length(x4)
    H4(i)=707;
    V4(i)=707;
    M4(i)=196.4*x4(i)-1600*(x4(i)-2)+2110.7
*(x4(i)-4);
end

figure (1)
plot(x1,H1,x2,H2,x3,H3,x4,H4)
xlabel('x (m)')
ylabel('Axial Force: H (N)')
%grid on

figure (2)
plot(x1,V1,x2,V2,x3,V3,x4,V4)
xlabel('x (m)')
ylabel('Shear Force: V (N)')
grid on

figure (3)
plot(x1,M1,x2,M2,x3,M3,x4,M4)
xlabel('x (m)')
ylabel('Bending Moment: M (N.m)')
grid on

z1=0:1/100:1;
for i=1:length(z1)
    H5(i)=0;
    V5(i)=1000;
    M5(i)=1000*z1(i)-1000;
end

figure (4)
plot(z1,H5)
xlabel('z (m)')
ylabel('Axial Force: H (N)')
%grid on

figure (5)
plot(z1,V5)
xlabel('z (m)')
ylabel('Shear Force: V (N)')
grid on

figure (6)
plot(z1,M5)
xlabel('z (m)')
ylabel('Bending Moment: M (N.m)')
grid on




